
The sunshine list tutorial 

 

Every year, the Ontario government updates its online database of 
public servants earning more than $100,000 a year, colloquially known 
as the “sunshine” list. Other provinces like Alberta have followed suit 
with their own lists.  

Ontario’s release produces the predictable stories about the top-
earning civil servants. While the stories are serviceable, and can be 
pumped out on deadline, they are not the most creative use of this 
data. There are better stories buried in the numbers. Stories about 
hospitals, school boards, towns and cities, colleges and universities. 

For instance, which cities spend the greatest number of their overtime 
budgets on firefighters and police? Which top-earning hospital CEO’s 
have continued to receive generous raises while nurses and other front-
line staff endure wages freezes and cutbacks? How many of the top 
earners are women? And which universities have the highest rate (as 
opposed to numbers) of professors earning more than $100,000 for 
every 1,000 students?  

Arguably, answers to these kinds of questions produce more interesting 
stories than those cranked out on deadline. But to do so, it’s necessary 
to get the data into Excel.  

The sunshine list is subject of much discussion in chapters three and 
four. But let’s use this tutorial to break down the most recent data set 
to compare Carleton University and the University of Ottawa to see 
which institution possesses the highest rate of top salary earners.  



We’ll download a complete data set, thankfully provided by the Globe 
and Mail, which allows for endless analysis.  

So let’s get started!  

1) Download the sunshine list from the Globe and Mail website. 
2) Paste the URL into the first available cell in the first row, and save 

the file as a backup. 
3) Rename the first worksheet “Original”. 
4) Copy and paste the table into a second worksheet to be renamed 

as “WorkingCopy” 
5) Clean up the data set by eliminating the first five rows so that the 

first cell in each column contains a name. 

 
6) Once we have a clean dataset, it’s always a good idea to apply the 

filter to begin “interviewing the data” (A process the textbook 
discusses on page 123).  

7) Re-format the numbers in the “Benefits” and “Salary” columns as 
currency with no decimal places.  

8) Filter the table for Carleton and the University of Ottawa, and sort 
the “Salary” column in descending order to see who earns the 
most. No surprise that the two university presidents are in the top 
five, though Roseann Runte’s benefits package is surprisingly high 

http://www.theglobeandmail.com/news/national/which-public-servants-earn-more-than-100000-search-the-sunshine-list/article17699726/#dashboard/alerts


compared to Allan Rock’s. 

 
9)  This is interesting. To get a bit more context, let’s see how her 

benefits as a percent of the total income compares to Allan Rock 
and the others on the list.  

10) De-activate the filter to return to the unfiltered table. 
11) Let’s combine the values in “Benefits” and “Salary” columns 

in a new column we will call “Total_Salary”. 

 
12) Add the values in “Benefits” and “Salary”. To review this and 

other math calculations, re-read chapter four in Computer-
Assisted Reporting. 

 
13) Copy the formula in column G to the bottom. Always be sure 

to scroll the bottom to make sure that the new values fill the 
entire column. Sometimes this doesn’t happen because there may 
be a blank field that stops Excel from copying the formula. If this is 
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the case, you’ll have to manually continue the process. 

 
14) Re-apply the filter for Carleton and the University of Ottawa, 

and then sort the “Total_Salary” column in descending order to 
see who earns the most. 

 
15) Given that her benefit package was the highest among the 

top five, it’s no surprise that Carleton’s Roseann Runte has the 
highest total salary.  

16) Now let’s do one more calculation: the benefits as a percent 
of the total salary.  

17) Remove the filter to take us back to the entire table. (NOTE: 
It’s necessary to de-activate the filter each time you alter the 
table.) 
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18) Create a new column and call it “Benefits_%_of_total”. 

 
19) To get the percent of total, divide benefits by the total salary 

and then express the value as a percentage. (Pages 74 and 75 of 
the textbook discuss percentages) 

 
20) Copy the formula, making sure that it reaches the bottom of 

the column.  
21) Sort the new column in descending order. 

 
22) Though the Carleton president’s benefits package is high as 

a raw number, it doesn’t even crack the top five when calculated 
as a percent of the total salary. Andrea Riekstins of The Hospital 
for Sick Children’s has benefits that make up about half her 
income. By contrast, Roseann Runte’s benefits package is 11.3% 
of her total salary, still high compared to the average ( a 
calculation you should perform using the instructions of chapter 
four of the textbook), but far lower than Riekstins’. 

23) We’re not saying that there’s anything wrong with benefits 
making up a large portion of the total salary. But it sure does raise 
some interesting questions that could lead to a more interesting 
story compared to the typical deadline-driven fare.  
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24) Now let’s get back to the Carleton-University of Ottawa 
table.  

25) Apply the filter for both institutions, copy the table and 
paste it into a new worksheet, name the worksheet 
“Carleton_UofO”, and re-adjust the width of the columns so that 
the entire table is visible on the screen. 

 
26) Create a pivot table (discussed in the textbook on pages 87-

99). 
27) Remember, Excel has an annoying habit of inserting columns 

and worksheets to the left. If you’re more comfortable reading 
left-to-right, simply drag the worksheet tab to the right of your 
“Carleton_UofO” worksheet and label it 
“PivotTable_Employee_Count”. 

 
28) Drag the “Employer” column in the pivot table’s“Row 

Labels” section, and place the “Total _Salary” in “Values” section. 
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29) Make sure to “Count” – not “SUM” – the values, to give us 
the number of employees for each institution. 

 
30) So University of Ottawa has 1.8, or almost double the 

number of employees earning more than $100,000.  
31) The problem with raw numbers is that they usually lack 

context. For example, it could be that U. of O. has more 
employees in this income bracket because it’s a larger university.  

32) That’s easy enough to check by consulting the fact sheets for 
Carleton the U. of O. 

http://www.carleton.ca/about/facts/
http://www.uottawa.ca/services/irp/docs/2013_QuickFactsEnglish.pdf
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33) 
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34) 27, 823 students are enrolled in Carleton, compared to 
42,027 at the University of Ottawa. U. of O., then, has an 
enrollment that is 50% higher. However, it possesses twice as 
many employees in the $100,000-plus income bracket compared 
to Carleton.  

35) While interesting, it’s still difficult to compare the two 
without using a rate. In this case, the number $100,000-plus 
employees per thousand students. Rates allow for comparison 
when discussing everything from crime to poverty. Rates allow for 
comparisons between countries, provinces, cities, neighborhoods, 
and so on.  

36) To get the rate for the two universities, create a new column 
to the right of the pivot table’s “Count of Total-Salary” column, 
and call it “Enrolment.” 

37) Plug in the enrolment for Carleton and for the U. of O. 

 
38) Create another column, call it Rate, and enter the formula 

that will produce the rate, in this case the number of employees 
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for every 1,000 students. 

 
39) Check out the formula in the formula bar above columns B 

and C. We divided the number of employees by the number of 
students, placed that calculation in bracket so that Excel performs 
it first, and then multiply by 1,000 to obtain the rate per 1,000 
students. We used 1,000, but could have really used a higher or 
lower number.  For instance, it could have been the number of 
employees for every 10,000 students, a rate that would make 
have made more sense if enrolment for both institutions was in 
the tens of thousands. (Consult pages 81 and 82 of the textbooks 
to learn more about calculating rates.) 

40) So now we can compare the two universities. The University 
of Ottawa has a higher rate, or ratio, of employees earning more 
than $100,000. 
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